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And the R1n Rin is referring to the other X1 'M. We are
witnesses that whatever this one holds, etc.

OVERVIEW

n" initially taught (8n>>np n1"7) that if two 07y partially support the m°on
concerning his loan, the m> (who denied everything) is obligated to swear
that he does not owe the remainder (that which the 2°7¥ do not testify about).
The X773 initially stated that our 71w of 11MX 0°3W supports &n>»p 11", Each
litigant claims that the other must give him the entire n°%v. One claimant
(J21%7) possesses half the n°%v, which is considered as if 0*7v testify that he
owns half the n°%v. The result is that in order for the other litigant (7v»w) not
to be obligated to give up the n°%v completely, Nw»Ww must swear. This seems
(superficially) to parallel the case of p"n. The X3 rejected this proof
because in the case of p"n0 only the m?n has 0>7¥ that partially support him,
[if the M would have 0*7v to (partially) support him that he does not owe
more than fifty, then he would certainly not be required to swear]; while in
the mwn both litigants have 2>7v to support them and nevertheless they are
required to swear. It is therefore obvious that the 7¥12w of the mwn is not
connected to P"r7. The X773 recanted and said that the miwn supports J7°X
n"17 who maintains that there is a »"2m n¥aw even by 77°7. There is a
dispute between *"w1 and MdOIN how to interpret this proof.

— 2R NN 53911 YANUN DI1Y NNTYN M"7T 1 Hrus we
»"w1 explained that since the holding of the n°%v in the mwn is like av7w
are testifying that half belongs to him, therefore each one swears on

account of the first ruling of 1''9, that when o>7v support half your claim (as is the
case in the m1wn) the opposing party is required to swear on the other half.

mooIn disagrees with >"w7%:
— NN»NP NN NIN 19707 N3 90 OMIDIND 811 NDT 1190 DYDY

"3 xnn xam "

1t (superficially) appears that *"w (at this point) is ignoring the question of 121 "X *770 1187 *2°7 7. We
are concentrating on the 772°17 aspect of this case. The case of the 71wn is a case of 777 [because 0°9n7 *Xn
X171 721]. There is a av12w 270 (in our 71wn) because of the forgone conclusion of P"n7 [and our mwn is
similar to p"n7 because X7 7777 °X77 07007 X7 >710 13K]. The 73wn teaches that 72°77 does not remove the 2n
7312w, which is a proof to 1177 JTX.

? The w"w amends this to read 'kn»2n2'.
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And it is difficult to accept this explanation. Since we cannot prove this

latter Xnv12 of 797, unless we accept the first xn7a of 1", then the x»3 -
— *NIMNPPN NN NI N1D*Y

should have said X330 X1 on the first xn>2 of 1" as well.

mooIn offers his interpretation:
— NPYTIND Y10 )INT 927 W 795

Therefore one can say, that the expression, that ‘we are witnesses that

whatever each one is holding is 77°77’; is not precise -
— DYTY ARTYNN 290 NOYAN NYY 1°2VYNN ©29NT INNIT

For that which he grasps is considered in his favor more than if

witnesses merely testified that it is his, but rather -
— 5yn 1977 5199 A1) 19N UM

It is considered as if his adversary admits that it belongs to him.

mooIn (finally) asks:
— 799919 NN 0PI YanT NYP N

However, there is a difficulty with this explanation as well, for we can ask

than in any event -
—ANYNP 31 I1729N) TsNAY NI M) IND INAY NN INNT $351 99 1PHINNT

That in our mwn, just as one admits to the other, the other also admits
to him and nevertheless they both swear -

— P58 NI NIINRPN 77997
Just as the X712 asked concerning the proof on the first Xn>12 of 1"9; so

what is improved by saying the Xnn Xi1m on n1"37 7R, when the same question
remains.

madIn answers:

* The n"7 97°XR teaches that 7211 does not remove the »n"21 nvaw. If we wish to substantiate this from the
7y12w of our mawn (which is a case of 72°77) we must first ascertain that our 73wn is a case of n"21. It can be
a case of n"21n only if we assume "7 that 2>7y NX7Y7 is the equivalent of n"2. Therefore, argues mMooin,
we either prove both rulings of 11" or none. At this point M»0n ignores the issue of 131 770 1187 R2°7 "D.

> An admission from an adversary is stronger than witnesses, for witnesses can be contradicted but not an
admission. See (both) i1 77"7 Md0IN on the previous 7MY, See (however) ‘Thinking it over’.

% The explanation of the X3 would be as follows. The 73wn is a case of »"2m since *X71 00N7 7 is stronger
than 0*7v; it is as if his adversary is 771 to half. This 78717 is accompanied by 72°7 for X171 72°7 °X71 0507 77
and nevertheless he swears; proving 11"77 77°%. However, it does not prove p"n7, for the fy12w 211 of the
mwn is on account of n"21m and not 27y nR7Y. (We are still ignoring the 121 °Ri7% 770 787 83°77 °2.)

7 We cannot say that the mwn is a case of n"am and 727, since each one is admitting. It is more than
obvious that if after making the initial claim and subsequent denial, the m>» admits that he is owed only
half and the m“ admits that he owes half, there is no 7¥12w. The 71wn7 12w has no association with 213!
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And one can say; that even now (at this point in the discussion) the X313

also depended on the reason the X723 will mention shortly; namely that -
— EREYIIND AONDT NIOYT NINAY 1329 23D NN 31 NY NV 1950 N

If 937 is ™we from a 7312w, then the 327 would not have instituted a

mwaw for which there is no counterpart in the 790 -
— 9109 DY NNTYNA 913) *3 NNMNP NN 229D YaN

However, concerning the first i1''1 there is no proof, for even if 237y nR7Y?

iS WD from a 712w in opposition to 1", nevertheless -
—n59an ©59N7 INPa ANTN YNT 129NN NIV 1929 NPHN

The 3329 would institute a 713w in our M, for it is considered that
each one concedes that part of the n°?v which his friend is grasping.

MmooIN is not satisfied:
— NOPNAPN NNN NI 9INRP XYT XD AT 2957 PN

And this explanation is lacking! For according to this explanation, the

reason the X713 did not say the XN npR X110 K1Y, is -
— NNTIND 2PYUN UIINT INNT OIVUN

Because grasping is considered admission and not o>7y nx7vs -
9919 INND STND INT 93510 35 DYLN NIN NYYNY 1N NIPH XY I

But this was not his original refutation previously, but rather his

refutation was that just as we are witnesses for this one, etc. we are
witnesses for the other. maoIn does not answer this question.''

¥ It is obvious that the 7Iwnn YW is not a KNIRT 7y1w of n"2m (because of the "2 *Ri7 °>°77 "), but
rather a 131277 712w, Nevertheless if 72°77 would be 7v12awn Mo, the a°non would not make a 712w in a case
which is so similar to 7711

? Even if 07 cannot be 2™ a 712w, it would have no reflection on our 71wn, for the 7312w of our 71wn is
based on n'"2m n¥12w since (according to Md0IN) we consider *Xi7 0%9N7 *Kn1 as if the other concedes it to him
like a regular n"21m; it is not based at all on 0*7¥ NX7Y7 as in P"'7".

' moown may be asking the following. We are now saying Xhn Xin is on the 11"27 77X (and we are
dismissing the "3 °R7? 7711 K77 9277 *3), with the understanding that the 73wn is not a ‘real’ case of 77’7 by a
n"2m; we are merely saying that if 72°7 would be Xn>>7X7 W9, then our mwn would not have made them
swear even 112772. We can therefore argue that our 71wn is not really a case of n"21 but rather of o7y NX7VR
as we originally maintained (that it parallels p"r7). The question of 21 >770 717 °3°7 °> we can safely
dismiss (as we are dismissing it now concerning the 11"17 77°X). We will say that if there would be no 712w
XN»MRT by 211 then the m1wn would not institute a Xn>7X2 7NN X3°77 Av1aw. The issue here is whether
the 71wn is a case of 7y NX7YiT (as we initially maintained) and we can prove p"fi7, or is it an issue of n"21mn
(as Mmoo currently maintains) and we cannot prove "1, From the &7n3 however it seems that the reason
why there is no proof to p"n7 from the 71wn is (not because the 711wn is a case #"2m and not 27y NXTYH, but
rather) because of 131 °X777 >7770 1187 °2°71 °3 and that difficulty applies equally to p"nn and n"17 TX.

' See »2x 183 and 7"nK # 74.
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SUMMARY

According to *"wn the X1 XM proves that there is a n"2%m n¥aw by 721
from the fact that there is a 712w in the mwn [through 27y NX7YA of Y770 IR
(which is similar to n"213)] even though the miwn is a case of 72°11.

mooIN rejects this for if the 7IwnI NYAW is on account of O°T¥ NXTYT so there
1s proof for Xxn»np 11" as well.

moon explains that 0507 °X» is equivalent to a (N¥pna) ARTA. The ny1aw
7awn: is then (similar to) a n"2m n¥aw when there is 77°77. There is no proof
however to p"17 (since our 71wn is considered as 72"211 but not 27V NRTY).
The X773 at this point already knew that the 71wn is a 711277 Av12w, however if
721 would be "o there would be no 73277 7AW by 727 as the X
concludes shortly.

The difficulty that remains is that according to the X713 there is no proof for
"M because 121 °Xi77 770 11IRT °277 °2. However according to mooin there is
no proof to p"n7 because 00N is 7"'Y2 NXTIT not 2°TY NRTV.

THINKING IT OVER

mooIn claims'® that when the X3 states 191 *Xi7 00T *K1T *770 X, it does
not mean that we are merely witnesses that it belongs to the 0910, but rather
it means that it is considered as if each one admits that whatever the other is
091N, belongs to the 091N, Seemingly how can we say that each one is 771
that the other owns half; when each one claims *w 751372!"

12 See footnote # 5.
13 See n"m1 and v> MX 7"510.
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